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QUESTION 1

Which three statements are true regarding the use of the Database Migration Assistant for Unicode (DMU)? (Choose
three.) 

A. A DBA can check specific tables with the DMU 

B. The database to be migrated must be opened read-only. 

C. The release of the database to be converted can be any release since 9.2.0.8. 

D. The DMU can report columns that are too long in the converted characterset. 

E. The DMU can report columns that are not represented in the converted characterset. 

Correct Answer: ADE 

A: In certain situations, you may want to exclude selected columns or tables from scanning or conversion 

steps of the migration process. 

D: Exceed column limit 

The cell data will not fit into a column after conversion. 

E: Need conversion 

The cell data needs to be converted, because its binary representation in the target character set is 

different than the representation in the current character set, but neither length limit issues nor invalid 

representation issues have been found. 

* Oracle Database Migration Assistant for Unicode (DMU) is a unique next-generation migration tool 

providing an end-to-end solution for migrating your databases from legacy encodings to Unicode. 

Incorrect: 

Not C: The release of Oracle Database must be 10.2.0.4, 10.2.0.5, 11.1.0.7, 11.2.0.1, or later. 

 

QUESTION 2

Which two utilities can NOT configure a new listener on port 1526? (Choose two.) 

A. dbca 

B. asmca 

C. netca 

D. netmgr 
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E. lsnrctl 

Correct Answer: CE 

Reference: https://community.oracle.com/thread/3781791?start=15andtstart=0 

 

QUESTION 3

Which three statements are true about the purpose of checkpoints? (Choose three.) 

A. They ensure that uncommitted transactions are rolled back in case of an instance failure. 

B. They ensure that all the dirty buffers are written to disk during a normal shutdown. 

C. They ensure that instance recovery starts in the event of an instance failure. 

D. They ensure that dirty buffers in the buffer cache are written to disk regularly. 

E. They reduce the time required for recovery in case of an instance failure. 

Correct Answer: BDE 

References: http://docs.oracle.com/cd/E36909_01/server.1111/e25789/startup.htm#BABGDACG 

 

QUESTION 4

Which three statements are true about naming methods? (Choose three.) 

A. Local naming supports multiple protocols, but for any one connection, the client and server must use the same
protocol. 

B. In the Easy Connect method, clients can connect to a database server by using the host name of the database with
an optional port and service name. 

C. In the Easy Connect method, the listener port and IP address must be provided for the connection to be successful. 

D. The local naming method does not support connect-time failover and load-balancing options. 

E. The directory naming method supports connect-time failover and load-balancing options. 

Correct Answer: ABE 

 

QUESTION 5

What is a pre-requisite to alter a role? 

A. You should be granted the DBA role. 

B. You should set the OS_ROLES parameter to true. 

C. You should be granted the role with the GRANT OPTION. 
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D. You should have the ALTER ANY ROLE system privilege. 

Correct Answer: D 
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